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Q1. To assess the validity of surgeons in the diagnosis of acute appendicitis, by
comparing the findings from histology with the clinical diagnosis, 300 patients
were involved in the study . The surgeons were able to diagnose acute
appendicitis in 132 cases, histology confirms the diagnose in 120 cases, the
surgeons were incorrectly excluded acute appendicitis in 48 patients and

correctly exclude acute appendicitis in 120.~ Erue negative (d)
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ability of the test to measure what
is intended or supposed to measure

a. What is the validity of surgeons in the diagnosis of acute appendicitis?
b. Calculate the misclassification rates. . t.1.e weio.rtie neapitue

c. Calculate the repeatability of the surgeons in the diagnosis of acute
appendICItIS O%Ce ot re\-lc‘bﬁ‘m}:‘@jwl i Ulsllhstest 1w Lo JS

d. Calculate the predictive values of the surgeons in the diagnosis of acute

L L what is the probability of the individuals to be having
append|C|t|S the disease among who are positive from the ‘

screening test 14> S screeningJl us galb J1132 JI o0
s osall g2 Llns



as public health and other fields we always evaluate adults.in labs
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as doctors alot of cases of acute abdominal pain come and
there is Alot of differential diagnosis so as doctors we need to
recognize if it's acute appendicitis or not

the patient comes with acute abdominal pain in the right iliac fosa, tenderness so
they evaluate the Ability of the doctor by clinical examination to say diagnos the

patient with acute appendicitis then compare it with the surgical results and
histological tests
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the surgeon is able to
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and "‘%N\\%EA)L\,\Q €5 these 40% are wrongly told that they
N0 are normal soooo what are the
.\mdk ¥ \W‘"‘ e consequences? they will be deprived
_wa.,, W’:;rx from the treatment and this will cauz
alot of consequences like rupture of
the appendix or appendicular mass ..



in false positive tests it's difficult to de-label the patient that he is
normal and it was a wrong positive test
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interpretation: ability of the surgeon to correctly diagnose or
correctly exclude the individual
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this means that the sensitivity is 95% so the test is highly sensitive and can be used for 'FCI"CII
diseases..we already said that in fatal diseases we need sensitive test cauz we don't want to miss and case
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Q2. A medical student was asked to check the blood pressure of 800

ed ot corfirmed coses itk TN

factory workers. It is known that 75 of the workers are hypertensive.

h e was able to diagnose hyperte %75 of the stand 75 person
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The student was able to identify 55% of the hypertensu ve but also
labeled 14% of the normotensive as hypertensive.
b Palse Fosibx/e
a. Prepare a 2x2 table to display the data
b. How valid are the results of the medical student ?
c. What is the prevalence of hypertensu onin these workers according to

revalence rate is calculated bg/ two ways:

the results of the medical student?-cither already existing cases rom the population
\/ 75 from the 800 @‘9)4' X ‘*ch:x\'sir:ad 2y
7 Q-or true positive+false positive: (56+102)/800*1000

epidemiology, biostatistics and public health are all quantities studies
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Q3. To assess the ability of school doctors (SDs) to identify children

with visual problem by visua examination comgatrgg to
Can o

ophthaf?ﬁ%bglst doctor(ODs) visual examination, out of%looo pupils

posittive b bc(eux (a)

involved in the study, SDS was able to identify 24(5 pupifs with Visual

’a\/e,

problems out of 306 puplls dlagnosed by ODs and SDs were able to
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exclude visual problems in 600 olit of 700 15beled a8 normal vision by
ODs. Calculate::

a. Validity of SDsin vision examination.
b.Misclassification rates
c. Agreement rate.
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as SD's they can correctly diagnose vision
roblem 80% of the cases that are diagnosed

r$ Ey OD's

fhe{, can correctly exclude vision
/> problem in almost 86% of the cases
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Q4. Two tests, test —A and test —B are available to diagnose a certain
disease, these tests have the following characteristic:

we want to know which test is better to be used for diagnosis
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Test-A was positive in “62§% of individuals who are disease free and
was negative in 2% of péatients who are diseased.

Test-B was positive in 2% of individuals who are disease free and was
negative in 25% of patients who are diseased.

What are the sensitivity and specificity of each test? Which one do
you prefer for the screening of arelatively severe disease? test A
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Q5. You have a new glucose screening test. To seeif it is effective, you compare, ..

its results to the gold standard of oral gl ucose tolerance test, out of 150 di: abetic,

postive by screening () why jts ot (o4b) oz “out & 150" 1f Wity senbence Toit_Citken we
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50 test pos?ive with your new screening test. Out of 120 non-diabetics, 20 have a
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1. What isthe percentage of patients deprived from necessary treatment? g\?ea\zew )
2. Assessthevalidity of the new glucose screening test? ¢
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Q6. In apopulation of 4000, it is known that 20% of them are hypertensive. An
Investigator was asked to check the blood pressure of all individualsin the
population, and he was able to correctly identify 20% of the hypertensive.

\, - —
Assumethat false -veareequal tofalse +ve. 2> 2.

a. Display thedataina?2 x 2 table.

b. Calculate the sensitivity, specificity and over all misclassification rates
according to the investigator findings. What is the observed prevalence rate of
hypertension? = T







